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7. IlpousBoaHbIe

1. B 3agauax 1 — 6 BplumcauTh )'; B 3agayax 7 — 8

BpluncautTs Y u Y aas yHkumm  y(x), 3agaHHOM

HesIBHO; B 3agaye 9 Belumcauth )''; B 3amave 10
2

BBIYHMCJINTH & u d—g} ecqim yHKHUA Y(X) 3agaHa
dx dx
napamMeTpu4ecKu.
Bapuanr 1.
Ly=0Gx'—4/Ux* +2. 6. y=(arctgx) "2,
3
2. y=Ins I=5x . 7. x*+y /x> +y> =0.
1+ 5x
3. y=arccos2x +/1—4x> . 8. x-sin2y—y-cos2x =10.
4, y=2" +x-sin2x. 9.y=ln(x+\/ﬁ).
2arctg\/; X = COSlIlt;
5. y:—z 10 )
logs x y=sm-t.
Bapuanr 2.

lLy=(5x2-23x +3). . y = (sinx)* .

6
2. y=In¢ 1_X6, 7. Inx+Iny=xy.
I+x

3. y=arctg\/x* —1. 8. (¢ x-y)Y=x"+2.
2

4. y=e"™ —2x-arcsin 5x . 9. y=" +1X.
X_

5.y

Jsin3x

_ cos(Inx) 10 X = arcsin(sin t);
" |y = arccos(cost).
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Bapuanr 3.
1. y=(7x>+5/3/x —13)°. 6. y=(Inx)**.
4X_3 4 4
2.y:1n4m. 7. x"+y" =4xy.
3. y =arccos~/2x> =3 . 8. x-Iny+y -e* =x+1.
2
; X
4, y=3""—cosx-tg’x. 9. y=— .
y X-tgX y (x—2)]
5ln(x*-1) w=Jot—t2
5.y= 7 10. ’
ctg“4x y = arcsin(t —1).
Bapuanr 4.
\/;—3X3+2 oCOS X
1. YZT- 6. y:(x/tgx)
x' -5
2.y=ln | —. 7. x> =2x*y* +5x +y-5=0.
3+x
3. y:arctg@+cox3x. 8. y-x*+cosy=2"-x.
4. y:e&+ctgx3-sin4x, 9. y=arctg(l/x).

3/ =Incost;
5.y:L2x. 10. {X

arcsin e* y=smt.



Bapmuanr S.

1y=CG/x2 +3/x° - 1),

3x+5)
2. y=1In3 .
Y [x3+1]

3. y=log,(2x +5)’ + 2%,

4. y=sin~/x +tg’x -cos6X .

log; (x* ~1)
5. y - —2 .
arcctgdx

Bapuanr 6.

y_43\/;—x5+4x

X

1-3x
2.y=Ins|——.
Y x® +1

3. y=arcsin’(2-x).

4. y=cos’x-ctg5x +(1/2)".

Sll’l( exz +3x-2 )

arctg2”

6. y=(ctgdx)> .

3

7. y—+2x-y—‘[gy:0.
X

8. X —y=arcsinx —arcsiny.

0. y:arcsin&.
x=1/Int;

10. 14412
y=In———.

t

6. y=(tgx)* .
7. sin(xy) +cos(xy) =0.

8.3/y'—y-sinx=x-y
9. y=In(x*+x+1).
I+t

y=~/1-1t%
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Bapuanr 7.
1.y=03x*+x/x =2/x)°. 6. y=(sin/x)"*".
(x-2)-2x+1)° s
2.y= . 7. y-x"+2y=2x.
y ox y y
3.y =arcctg(l — 2x)%. 8. x*+y* =x%y%.
: 2
4. y=sin’x-tg3x —log, 7x . 9.y:;(2+_X
cigx X= Vl_tz;
xe
5. y:—.4. 10. t
lolfsm X y= .
1-t?
Bapuanr 8.
Ly=37x+3/x -2 .  6.y=(x*+35°",
1— 2
2. y=In3 x3 —X6x , 7. y—x* = arctgy.
3. y=arccos/3x’ . 8. e*siny—e’cosx=0.
4 3 ) 5 2—x?
4. y=5" +In"x-arcsin2x”. 9. y=———.
x“+1
[g23 X = arctgt;
5.y=——— . 10. [ 2
ln(sinSx)5 y=In 1+1

t+1
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Bapuanr 9.
3 } esinx
1. y= x—;+2 . 6. y=X .
2
2.y:1n443);7+2. 7.¢"+7 X =2x-y’.
X +2x
3. y =arcetg’+/x . 8. y=x-In(y*+1).
1 —sin 7x
4, y=3"" 4+ ———. —x-e ¥
y (g5x 9.y=x-e".
h(e®) X=t- t2+l;
sh(e
5. y=————. 10. /
d log, (cosx) It 1+t2.
t
Bapuanr 10.
1. y=(4x" +32x* = 7x)*. 6. y = x¥einx
2
2.y:h1433+7x. 7.2 +y-x*—y -sinx=2.
X +9x
3. y=logl(5-4x"). 8. x’+Iny—x%’ =0.

4. y=e" —/x -cos2x’. 9. y=-/x*+2x+3.

0% x = (14 cos’ t);

V= : 10. cost
arctgy1-— 2x? y=—">5"

sin’t
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Bapuanr 11.
5 2
Ly= B XX 6. y = (sinx)™'%
X 3
2
2. y=In3 2x _2, 7. In(x+y)—x>+3y=0.
x* —3x
3. y =arcsin 3x —/1-9x” . 8. e"+e’ -2¥ -1=0.
4.y:3&’2+x-sin3x. 9. y=x-/1-x*.
arctg(x/a) x = arccos(1/t);
YN 10. = :
tg~(cosx) y=~/t"" +arcsin(1/t).
Bapuanr 12.
6
1. y: . _ earctgx
AxP4+5x -1 6. y=x
2
2. y:h144+7x. 7. arctgy+e*Y =2x.
x* +12x
3.y= tg§+2mtgx. 8. In(x —y)=x*+y~.
4. y=2x’-sin 5x + 57, 9. y=-/x*+2x+3.
t+1
5 o /arcsin x 0. x=arctg—t_l,

y = .
log,(cosx
& ) y = arcsin/1—t*,
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Bapuanr 13.
9
2x
Ly=|"=-9x+2]. 6. y=x>-5.
g (( ] g
3_X2 X+3y _
2.y:h1337. 7.3 +Y'Cth—7—0.
X’ —9x
3. y=arccos— . 8. x*siny+y’cosx = 2x .
X f—
4. y=3sin5x —e® -cosx’. 9. y= le.
X
_ X x = In tgt;
5.y = SOV (13/2) . 10. fgz
log; x y=1/sin"t.
Bapuanr 14.
7 3
X
3x—4Y) 3
2. y=In3 . 7.y-x —x+cosy—-2=0.
3x+1
3. y:7vx+2l. 8. x-siny+y-cosx=0.
arccos” 4x
X+2

4.y26173X+SiIIX2'tg\/;. 9y:m

5.y

Jehx

_ arctg(3'€7%) . 0. 157 ctgtgt;
y =1/cos’t.



Bapuanr 15.

6

1. y=(9X\/;+57—lj
X

x% -1 ’
2. y=1Ins I
Y (6x+5]

3. y=3" farctg’/x .

4. y=cos’x+e*-log,(x’ -1).

sh3e”

r logs(arcsin 2x)

Bapuanr 16.

1Ly=4/0x +7/x —e)' .
_(x+57-3-2x)"
o (6x-10)°

3. y=log, x +arccos~/3x — 4.

4, y=x-sin’x+7"".

A 3lctgSx

- Y= shaxT
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7. y-m3-xsiny+x*=0.

8.y -x’—3xy—-2=0.
9. y = arctgx”.

_ 12 .
0. Xx=t —|.-2t,
y =Insint.

6. y=x".2%,
7.05-y-x=tgy—log, x.

8.sin(y—x)=In(y —x*)+2.
9. y=e* -sin 3x.

X =t*+1;

10.

y =In(t +~/t* +1).



70

Bapuanr 17.
17
l.y= . 6. v=_(si 2 x+1.
Y= 0 29x 121k _12y " & Y= Gsin’x/ )
5 —
2.y 23X 7. x -ctgy = [y —3x°.

T Bx+1) - (5-4x)
3. yz#arcctgﬁx ~J3-5x2. 8. y* —x¥ =cosx.

4, y:3smx—%7-log§x. 9. y=¢ " -cos2x.
. J1-arcsin6x ' y =In(1+e¢").
Bapuanr 18.

3/.,2 3
-7x —13 2
I-YZJX? fx ' 6. y=(tgx)"® *.
X
2
2.y=In 13_X ) 7. arctgzzlrh/xz+y2 )
X’ —3x X
2 X ¥ _ x
3. y=arccos+/x/4 +¢’. 8-;*‘;—6 :
4. y=e" +ctg2x-sin’x. 9. y=x-In(x*+1).
th 101—sinx _ in2t:
5.y:C ( : ). 0. {x arcsin” t;
10g3\/x— y=t-Int.
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Bapuanr 19.
y= 32 © 0. ln\/eyT:arcsinx—cosy.
(Bx° - 16/x +12x -1
3 2
2 y=m |23 7. W gy
6x +2 3y
2
3. y= ari;% X . 8. y=(x-sin X)sln(xsmx).

4. y=1tg’3x +-/sinx -cos4x’. 9 y:x.exz.

ew ln(ax2+bx+c) 10 {X =-/2t — tz,

S.y=—717—"—"-.

Y sh(arccosx) y=1/ W
Bapuanr 20.

5
1.y:(2x4 +f—9x—2] . 6. y:(Ctg3X)Zex.
3/(3x —8)? :

2.y= : 7. y-sin6x —1lgy=5x—-2%.

YT 5x-3) - @- 70’ ’ =
3.y=l,_7)3(- 8. x-y=arctg? .

arcsin” 2x X

4. y=tgdx -5 -arcctg’x. 9. y=(x’+1)-arctgx.

.2
X = arcsin” t;
5. logo(ctesn) 10,{

arccosx y _ t/ /l_tz .

X-€



72

Bapuanr 21.

Ly=(053x2+5/x*+772. 6. y=x"*
3
2. y:h1(2X_3)(53X+2). 7. X—+x-siny—tgy:O.
. i
3. y=flogy(Tx —4)+3™™*. g y—_198 .x?,
2
4. y=cosx? +./tgx -e. 9.y= 2X .
X" +4
3 . _ 3 _ . _ 2.
5.y:M. 10. X arcsin\/1—t";
arcctgx y = arccos t.
Bapuanr 22.

y_33\/;—5x3+7x

2
X

5
2.y:1n5(1_zﬁ. 7.In2-y’ —tgy-cosx =x/y.
3x° -2
3. y=arccos(x +2)*. 8. Ux? +3/y? :ﬂaiz.

_ x?+1

X+3
e? .eX2+3X*2 {x = arcsin \ﬁ;
R 10.

6. y* +Iny=e*+x>.

4. y:cos3x-ctgx+225m". 9.y

S.y=

yolis

arctg2”



Bapuanr 23.

l.y=7%/x73+x&—2/x5.

2y= (3x+2)"-/(2x +5)°

AM-x
3.y =arcctg?(2 —x).

4. y:sinzx-tg3x—log5 7X.

X - ctgx
3. y= 851n3x '
Bapuanr 24.

1. y=(0,5x% +3/x —2/x)>.

(1-x)°
(x> —6x)(7x +3)

3. y=arccos5x?.

2.y=In

3 .
4. y=2% +Inx’ -arcsin x>,

27)(*5

" inGsin®x)”

lfx2

6. y=(arcsinx f
7.y-x*+2Ine-y=x—cosy.

8. 2% +2Y=2%,

2

9. y=x-¢"
X = arctge';

lo.{ :

y=-/e' +1.

6. y=(x>+4)e.
7.y —In5-cosx = arctgy .
8. x> +y’ —3x-y=0.
9. y=In*(x +1).

x = In(1-t?);
m.{ a-)

y = arcsin/1—t2.



Bapuanr 25.

l.y:\/x-\/;—X35+2.
2

y:111(3x 3+2) 2&
(x*+2)

3. y:arcctg7&.

)
4. y=(1/3)" 4 —Snx
tg3x
ectgx
S5.y= .
Y 1g~/10x
Bapuanr 26.

I. y=(4x7+%/x7—7x)-i/;.
B+x°)

x> +9x

3. y=Ig(5-4x’).

2. y=In3

4. y=e® —.[x -sin3x>.

5 yo tgx - 2%

y=——.
arctg-/1 —2x>

6. y = (arcsin x)ex .

7.e*+7 -cosx =y/3.
8. x* —6x*y* +9y* =0.
2

0. y:(x—2] .

x+1

= (3% +1)/3t%;
10, {* =60+

y =sin(t* /3 +1).

6. y=(x>—1)""*.
7.2Y x>~ [y -cosx =2In3.

8. cos(x+y)=x-y.
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Bapuanr 27.

1. y=
Y x> 3

3
2. y=In? 2? _;9. 7. In(x+y)—-y* +3x =0.
X~ —3x

3. y=arcsin3x —/1+0,5x* . 8. Ax*+2Bxy+Cy*+2Dy=0.

4x° —x*  2x X
= - X 6. y=(cos5x)° .

4.y:3x3*2+x/sinx. 9. y=sin’x.
ta(x/4 =ctg(2e");
5. y=&C g(x2 ) Lo, JX = cte2e)
tg(cos™x) y = Intge'.
Bapuanr 28.
6
Ly=— . o elx
y (X2 +5X—1)5 6. y =(sin x) .
2
2. y=In4 44_7)( 7. arctgy+e*Y =2x.
x> +12x
3,y:A/th2+2“‘X. 8. 2y-lnx=x-y.
4. y=2x>-cosdx +3 2. 9. y=arctg’x .

- log,(sin x)

S [arcsin x 0 {xln(t+«/t2+l);

y=t/t? +1.



76

Bapuanr 29.

Ly=[Zrostaz)i. g yo

Jx Ly=X
2
2y CT0D g gy 03=0,
X f—
3. y=arccos’(x —1). 8. In(x+y)=x-y.
4. y=3/sin5x —e® -cosx’. 9. y=(Inx)/x’.
5 ve arctg8x + 2" . 10, 1% =cos’ t;
log; x y=sin’t.
Bapuanr 30.

5 sin X
l.y=(4x/;—%/x7+3x)5. 6.y=(COS X] )

1+ 2x

3x-4)"
2. y=In3 . 7. y/x—x+cosy* —Ine=0.

3x+1

3
3.y:%. 8. x* +y* =4xy.

arccos” 4x

4. y=e"* +sin’ x - tgx . 9. y=x-In(x*+1).

7x X = arccost;
6.y 2rce™) Lo, {

lgx° y=In(t* +1).



